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I = [sin3x - cos®x - dx

I = [ sin®x - sinx - cos®x - dx

I =[(1-cos?x)sinx - cos®x - dx

I = [(cos®x - sinx — cos%x - sinx)dx

I = [cos®x-sinx-dx — [ cos™x - sinx - dx
Let:t = cosx — dt = —sinx - dx

I=[t0dt — [t8dt

1 1
I = Hcosllx — ;cosgx +C
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I = [sin*x - cos?x - dx
I = [ sin®x - sin®x - cos?x - dx
I = [ sin?x - (sinx - cosx)? - dx
Lo (1. 2
I = [sin X'(ESanX) - dx
1, . ,
I = [sin?x-sin®2x - dx

I = - sin?2x - dx

ifw
I= %f(l — c0s2x)sin?2x - dx

I= %f(sinZZx — sin?2xcos2x)dx

I= %fsinZZX -dx — gf sin?2xcos2x - dx

1 r1—cos4x
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—dx — éfsinZZxCOSZx - dx

I= %f(l — cos4x)dx — gf sin?2xcos2x - dx

I=i[x—lsin4x]—l[lxlxﬂrﬁx]+C
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| = —=x ——sindx — —sin3x + C
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[ sin(mx) - cos(nx) - dx
[ sin(mx) - sin(nx) - dx
[ cos(mx) - sin(nx) - dx

[ cos(mx) - cos(nx) - dx
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SinA - cosB = +%[sin(A + B) + sin(A — B)]
cosA - sinB = + % [sin(A + B) — sin(A — B)]
cosA - cosB = +%[cos(A + B) + cos(A — B)]
SinA - sinB = —%[COS(A + B) — cos(A — B)]
 Cryed
I = [ sin7x - cos5x - dx
I = f%[sin(7x + 5x) + sin(7x — 5x)] - dx

I = %f[sin(le) + sin(2x)] - dx

I = 1 [—icoslzx — lcost] +C
2l 12 2

I = —ic0512x — lcost +C
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X
e u= tan; - x = 2arctanu

2du
* dx =
1+u?
. 2u
b Sinx =
1+u?
1-u?
b COSX = —
1+u?
2u
* tanx = —;
1-u
dx
J=[— &
1+sinx+cosx
2du 2du 2du
_ 1+u? _ 14+u? _ 14+u?
I_f L 2u  1-u? T f1+u2| 2u  1-uZ2 T T f 1+u2+2u+1-u?
T1+u? T 14u2 1+u? ' 14u?  1+u? 1+u?
2du du
1=/ =[—=mn|l+ul+C
2+2u 1+u

I=ln|1+tan§|+C
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1=/ Vx dx=f£dx

1+ Va3 1+x3/4

(% and %)—> (n=4) > Let x = t* - dx = 4t3dt

I = f(t;)i(émdt)

1+(t%)%

I= f1 S (4t°de) = 4=

1t3

— 2
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3
1=4[t——1ln|1+t3|]+c

3 3
I=23-2ml1+¢3|+C
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But:x=t*>t=x"*=%x->

3 183

I=§(x%) —%ln 1+(x1) +C

I = §x3/4 —%ln|1 +x3/4| +C

1=V =21+ Vo3| + ¢




